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1[pat 500 [109/03/02 |4t & P44 2 & gpsces |8 |- dxd =
2| e 500 [109/03/02 [k § pRas2 &pgces £ |- &k~
3| g 500 [109/03/02 [k § pRis2 &gpgces £ |- & d »
NEER 500 [109/03/02 [k § pRas2 &pgces £ |- & d »
5|1 m 500 [109/03/02 [k § pRas2 &gpgces £ |- &%~
6] * itig 1,500 [109/03/02 |4 ¢ pRit2 Aupsces |8 |- ixdh =
16+ 500 [109/03/02 |4 € PRF% 2 Lapferes | £ |- 4% =
8| 1hig 2 & 500 [109/03/02 [k § pRis2 &pgces £ |- &k~
gl agrp 250 [109/03/02 [k § pRis2 &gpgces £ |- & d »
10[ k32 250 [109/03/02 [k § pRas2 &gpgces |8 |- & d »
11384 & 250 1109/03/02 [4+ ¢ PRA% % L Epfres |H |- &5 2
12|38 16 250 1109/03/02 [4+ ¢ PRAx % L Epfres | B |- &5 2
13| # & % 300 1109/03/02 [4+ ¢ PRAx % L Epfres | B |- &5 2
147 2 % 300 1109/03/02 [4+ ¢ PRAx % L Epfres |H |- &5 2
15X & 300 1109/03/02 [4+ ¢ PRAx % L Epfres |H |- &5 2
16117 & & 10,000 [109/03/02 |4+ € PRA% 2 Lpfces | & |- B % 2
LS ES 5,000 [109/03/02 |4 & rRis 2 ipfers [B |2 %% 2
181k 12 2 5,000 [109/03/02 |4+ ¢ PRF% 2% L¥pfcrs (£ |X %%~
19[4k + 3% 250,000 [109/03/02 |4+ € FRAx %2 Lpfces & [X %~
20) =3 AU A 42 » 1,740 [109/03/02 |4+ ¢ PRI+ % L pdces | |A EIRIBEHE 2
21| =3 A4 e » 15,307 |109/03/02 |4+ § PRAx% Lpdees | £ | g IRiEEH B =
22| =3 A A e » 9,046 [109/03/02 4+ § PRz % Hapdres |8 |HEIRIFZEHE =
23| % & 2 200 [109/03/02 [4+ ¢ PRi%* L Epdees (£ |55 =
24[% £ 200 [109/03/02 [4+ ¢ PRIz % L Epdees (£ |55 =
95|t 200 |109/03/02 |4+ ¢ PRix 2 Asptrer |8 |5 =
26| 3 B3k 10,000 [109/03/03 |4+ € PRi% 2 Lupfces | & |- % 2
27|37 4= ¥ 10,000 [109/03/03 |4+ € PRi% 2 Lupfees | & |- % 2
28|E % = 2,000 [109/03/03 |4+ € PRI%x2% L¥pfees (£ |- B % =
29|5% & §; 500 [109/03/03 [4+ ¢ PRi%* & Epfees (£ |- &% & =
0|5 & 500 [109/03/03 [4+ ¢ PRi%* & Epdres (£ |- &% & =
S E R 500 [109/03/03 [4+ ¢ PRi%* & Epfres (£ |- &% =
32| & A4 500 [109/03/03 [4+ ¢ PRi%* & Epfres (£ |- &% =
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33| 2.0 500 |109/03/03 i § JRis2 & difcrs |4 |- b -
I EN T 6.000 |109/03/03 i ¢ FRis 2 & dpfcrs |4 |- b -
35| 2 ne 2,000 |109/03/03 i ¢ FRis 2 & dpfcrs |4 |- b -
36[% & T 1, 000 [109/03/03 [i ¢ IR 2 A sigces [& |- &% =
37[sE i 300 [109/03/03 i ¢ JRis 2 & difcrs |4 |- &b -
38|z i 30,000 [109/03/03 it & FRix 2 & sifcet | |- ik =
39|23 4 500 |109/03/03 i ¢ JRis 2 & difcrs |4 |- &b -
MEEE 500 |109/03/03 i ¢ JRis 2 & difcrs |4 |- &b -
MEET 500 |109/03/03 i ¢ JRis 2 & difcrs |4 |- 4d -
12k it 4 500 [109/03/03 iz ¢ PRis 2 Asascr |L |- ad -
Bl 500 |109/03/03 i ¢ JRis 2 & difcrs |4 |- &b -
mErES 500 |109/03/03 i ¢ JRis 2 & difcrs |4 |- 4d -
15| 2 e 500 |109/03/03 i ¢ JRis 2 & difcrs |4 |- &b -
16]8°% % 2,000 |109/03/03 i ¢ FRis 2 & dpfces |4 |- b -
47[ ¥ 2,000 |109/03/03 i ¢ FRis 2 & dpfces |4 |- b -
NEEEE 1, 000 [109/03/03 [t § rRan 2 A& spders |1 |- ok~
19]w 7 = 500 [109/03/03 [i ¢ PRis 2 A sager |1 |- ad -
50| 2 =5 500 1109/03/03 |4+ ¢ PRz % Lpfees |4 |- &% 2
51| mr 2 300 [109/03/03 i ¢ PRis 2 A spgcr |1 |- b -
52| 500 [109/03/03 |3 ¢ PRis 2 A sagcr |1 |- ad -
53] 4 2,500 |109/03/04 [ ¢ FRis 2 & dpfces |4 |- b -
5al% & 1 3,000 |109/03/04 i ¢ PRis 2 & difcrs |4 |23 Rop® -
55]% & 10,000 [109/03/04 i ¢ FRis 2 & atces |4 |2 %5 -
56| %% 11 4 fe ~ 2,435 |109/03/04 |4k ¢ JRis 2 & difcss |2 ik g IRibiedo & »
57[F < ¢ 5,000 |109/03/05 i ¢ FRis 2 & dpfees |4 |- i -
582 & 200 |109/03/05 i ¢ JRis 2 A difcrs |4 |- 4d -
592 £ 200 |109/03/05 i ¢ JRis 2 & difcrs |4 |- 4d -
60z % o 200 |109/03/05 i ¢ JRis 2 & difcrs |4 |- b -
B1[Az i ok 200 |109/03/05 i ¢ JRis 2 & difcrs |4 |- b -
62|tk 2 i 200 |109/03/05 i ¢ JRis 2 A difcrs |4 |- 4d -
63|rz ¢ £3 1 12,000 [109/03/06 i ¢ FRis 2 & aagces |4 |- b -
TR L o
64| 12,000 [109/03/06 |4t ¢ pRAs 2 & adees |4 |- s »
65| 1w 12,000 [109/03/06 i ¢ FRis 2 & gafees |4 |- andh -
66] 1% 2 47 12,000 [109/03/06 i ¢ FRis 2 & gagees |4 |- indh -
67k 12,000 [109/03/06 i ¢ FRis 2 & gagees |4 |- andh -
TERETEE
68| m A ¢ 451l 8,000 |109/03/06 |4z ¢ pris 2 Aspger |4 |- axd »
TEAEE
e 5,000 [109/03/06 |7 g PRis 2 A spfer |1 |- iad -
N 500 [109/03/06 it § PRis2 A sifcer |L |- ad -
e 330 [109/03/06 iz ¢ PRis2 Asifce |L |- b~
EE 330 [109/03/06 it § PRis2 Asifce |L |- b -
T3] e 330 [109/03/06 it § PRis2 Asifce [L |- b -
T4l 330 [109/03/06 iz § PRis2 Asifcer |L |- b -
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75|54 B 350 1109/03/06 [+ € PRA% 2 Lipfers (B |- & B ¥
EEE 330 [109/03/06 [4- ¢ PRix % Lpfers [H |- 4%
WiES-E 500 [109/03/06 A+ & PRi% % & upfees | B |- &% =
78[45 i pr 500 1109/03/06 [+ € PRA% 2 L ipfees |H |- & & #
79[ % Hp ik 100 [109/03/06 |4 ¢ PRIx2 EEpgers | £ |- &&=
80| % mw 100 [109/03/06 |4 ¢ PRIx2 A gt | £ |- &&=
81w & & 100 [109/03/06 |4 ¢ PRIx2 A gt | £ |- &&=
82| ¥ 100 |109/03/06 |4- ¢ pRAx 2 L gpfers |H |- 4% =
832 % & 100 [109/03/06 |4 ¢ PRIx2 A Epgers | £ |- &&=
84|51+ & 500 [109/03/06 [A- ¢ PRix % Lpfers [H |- 4%
85| shaw 500 |109/03/06 A+ & PRAx% & ¥pfers £ |- &% 2
86|55 = 500 |109/03/06 [A- & FRix % A Epferes [H |- & »
875155 & 500 [109/03/06 [A- ¢ PRix % Lpfers [H |- 4 &
88|+ m s 2,000 [109/03/06 |4+ ¢ rRix % Lipferes [E |- 42 =
N EEE: 2,000 [109/03/06 [+ € prix 2 Lipfers |8 [- 42 =
N ERE 8,000 [109/03/06 |4+ ¢ prix 2 Lipfers |8 [- 42 =
91|45 5 57 1,000 [109/03/06 |4+ ¢ PRFx2 Lirgers | B |- &8 =
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92;;%;;;2&- 1,000 |109/03/06 |- & pRix2 Axpsces [E |- & 2
93[Fa it % 500 [109/03/06 [4- ¢ PRix % Lpfers [H |- 4%
94| B = 500 [109/03/06 [4- ¢ PRix % Lpfers [H |- 4%
95[3% 87 2 1,000 [109/03/06 [4+ ¢ prisz Lipfers |2 |- 42 =
96| 4 % 1,000 [109/03/06 |4+ ¢ PRFx2 Lirgert | B |- &8 =
972 (2 3O 500 [109/03/06 [4- & /x5 Lpferes [B |- &%~
98|12 % % 500 [109/03/06 [A- ¢ rRix % Lpfers [H |- 4%
99[45 it Pt 500 |109/03/06 |4+ ¢ prar 2 Lipders (£ |23 Bad ®
100 P 4 200 1109/03/06 |4+ ¢ FRixr% Hipgees (£ |CimEd ©
1012 P 33 200 1109/03/06 |4+ ¢ FRixr% Lipfees (£ | CimEd ©
102|2 2w 500 |109/03/06 |4+ ¢ prar 2 e (£ |23 Bad ®
103l2 2 500 [109/03/06 [A- & /s % Lupferes |B |374 0% »
104] 45 # pr 500 [109/03/06 [A- & JRix % Lupferes |B 374 % »
105|2 # = 500 [109/03/06 [A- ¢ rRix % Lpfers |[H | EHEE 2
106] &%k = 200 [109/03/09 [A- ¢ rRix % Lpfers [H |- 4%
107]2 % & 200 1109/03/09 [A- & FRix % L Epferes (B |- & »
1083 %% 2 200 1109/03/09 |4+ ¢ prir 2 Liders [ |- 42 »
109]zm i 200 |109/03/09 [A- & PRx % A ¥pfees | |- &% @
10|84 % 200 |109/03/09 [A- & PRIx % A ¥pgees | |- & @
111]+ 3, 5 200 1109/03/09 [A- & FRix % L Epferes [H |- & & »
112|#r 2 55 500 |109/03/09 [A- & PRIx % A ¥pgees | |- & @

11354 % 500 [109/03/09 [4+ ¢ rRix 2 Lapfers |8 |- 4% 2
114|455 2 100 [109/03/09 |4 ¢ rRix % L3psces | £ |- 4 d =
THET X 100 [109/03/09 |4 ¢ rRix % L3psces |E |- 4 d =
116]+k3 3% 100 [109/03/09 |4 g PRFx2 Lipgert | £ |- 48 =
1174k 4 100 [109/03/09 |4 & rRix % L3psces | £ |- 48 =
118|4k4p & 100 1109/03/09 |4t & FJRix% Lipsees [ |- &b @
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119z % & 200 [109/03/09 |4 § rRix 2 & spgers & |- 8 =
120[% & 2 200 [109/03/09 [4 § 1Rax s & spger & |- 8 =
121]57 5, 4 100 [109/03/09 [k § Ri3Z & dces |2 |- 48 -
122]% & % 5,000 [109/03/09 [t & pRis 2 & sices |4 |- b -
123]% 7 2> 2,000 [109/03/09 [t & s 2 & dices |4 |- b -
124|558 & (B 1,500 [109/03/09 i ¢ PR+ 2 & giscrs |4 |- b~
125774 i 1, 000 [109/03/09 i ¢ PR+ 2 & giscrs |4 |- b =
126] 3Rz 1,000 [109/03/09 [i2 ¢ Fib 2 & sigcer |5 |- i »
127 % 300 [109/03/09 [4 § /Rae s & siger & |- 8 =
128] k% B 300 [109/03/09 [4 § rRasz & siger & |- 8 =
129]% & % 1, 000 [109/03/09 i ¢ FRis 2 & giscrs |4 |- ik =
130]% g 1, 000 [109/03/09 i ¢ PR+ 2 & giscrs |4 |- b =
I31] = 28+ # 2 + 5% | 20,000 [109/03/09 i & Fie 2 & gasce | |- ik =
13242 % 1, 000 [109/03/09 i ¢ PR+ 2 & gpscrs |4 |- ind »
133]5 4 1, 000 [109/03/09 i ¢ PR+ 2 & gpscrs |4 |- b »
13435 ¢ 1, 000 [109/03/09 i ¢ PR+ 2 & gpscrs |4 |- ik »
135)5 < 1, 000 [109/03/09 i ¢ PR+ 2 & gpscrs |4 |- ind »
13625 % 1, 000 [109/03/09 i ¢ PR+ 2 & gpscrs |4 |- b »
137[ Pzt 500 [109/03/09 i ¢ PRis 2 A spdcr |1 |- ad -
138[2 @ = 500 [109/03/09 i ¢ PRis 2 A sadcr |1 |- ad -
1398 = 7 500 [109/03/09 i ¢ PRis 2 & sadcr |1 |- ad -
140[ e 500 [109/03/09 i ¢ PRis 2 A sadcr |1 |- ad -
T EEE 500 [109/03/09 i ¢ PRis 2 A sagcr |1 |- ad -
142]% i<y 500 [109/03/09 [4 § /Rax 2 & siger & |- &8 =
143] 775 3 500 [109/03/09 [+ § rRax 2 & siger & |- &8 =
144|103 13 500 [109/03/09 [+ § rRix s & siger & |- &8 =
145]2 it 22 500 [109/03/09 [+ § rRis s & siger & |- &8 =
146] & 500 [109/03/09 |4 § rRas 2 & siger & |- &8 =
147] 52 % 500 [109/03/09 i ¢ PRis 2 A spdcr |1 |- ad -
148] 2 cof 500 [109/03/09 [+ § rRax 2 & siger & |- &8 =
149]1 & % 500 [109/03/09 [+ § rRax 2 & siger & |- &8 =
15035 > o+ 500 [109/03/09 |4 § rRax 2 & siger & |- &8 =
151|302 500 [109/03/09 |4 § rRas s & siger & |- &8 =
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15275 10,000 |109/03/09 |4t § pRis 2 A ¥psces |4 |- dxd »
153| ik i3 600 [109/03/09 |4+ € PRF%2 L pdees | & N
154[ 1% & 44 2,000 [109/03/09 |4+ € PRix%® Lspeer (2 [ %5~
156 &35 41 A Je ~ 3,480 1109/03/09 |4+ ¢ PR#x 2 Lipdees |4 [ ERBEHL 2
156| & 45 500 [109/03/09 |4+ € PRFx2 L pfees | & EHER T
157 &= % 500 [109/03/09 |4+ € PRFx2 L pdees | & D B PR
158|# & 500 [109/03/09 |4+ € PRFx2 L pdees | & TP B PR A%
159 ¢ it = 500 [109/03/09 |4+ € PRFx2 L pdees | & TP B PR A%
160{mic-sk 3 £ & 3,200 1109/03/11 |4+ € pRix2 LEpfeer [H |- &5 =
161]% ¥ & 6,000 1109/03/11 |4+ € PRix2 HEpfeer [H |- &5 =
1624k 2 4 300 |109/03/11 |4+ € PRFx % L¥pfeet |4 |- &&=
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163[r & 2 300 [109/03/11 [4+ ¢ pRas 2z Lgpfees (B |- 42 =
16473 & 300 [109/03/11 [4+ ¢ pRas 2 Lpfees (B |- 42 =
165[ 7z & = 300 [109/03/11 [4+ ¢ pRas 2z Lgpfees (B |- 42 =
166 & 300 [109/03/11 [4+ ¢ pRas 2z Lpfees (B |- 4 =
167[r 5 % 300 [109/03/11 [4+ ¢ pRas 2z Lpfees (£ |- 42 =
168 7 & £ 300 [109/03/11 [4+ ¢ pRas 2z Lpfees (B |- 42 =
169[r %+ 300 [109/03/11 [4+ ¢ pRas 2z Lpfees (£ |- 42 =
170[3% % 3 300 [109/03/11 [4+ ¢ pRas 2z Lgpfees (B |- 42 =
1713 % 4 300 [109/03/11 [4+ ¢ pRas 2z Lgpfees (B |- 42 =
1723 % % 300 [109/03/11 [4+ ¢ pRas 2z Lpfees (B |- 42 =
173[+ 3 500 [109/03/11 [4+ ¢ pRas 2z Lgpfees (B |- 42 =
174|144 & 500 [109/03/11 [4+ ¢ pRas 2z Lpfees (B |- 42 =
175|4 & 2 500 [109/03/11 [4+ ¢ pRas 2z Lgpfees (B |- 42 =
176] ik 2 500 [109/03/11 [4+ ¢ pRas 2z Lpfees (B |- 42 =
LT7[4 & = 500 [109/03/11 [4+ ¢ pRas 2z Lpfees (£ |- 42 =
178[77 5. 4 100 |109/03/11 |4+ € pRAx 2 L gpders |H |- 4% =
179[#5 1,000 |109/03/11 |4+ & PRF% % L giferes |£ |- 42 2
180|#f &3 300 [109/03/11 [4+ ¢ prazrz Lpfees [ |23 Bpd =
181[4F & & 500 [109/03/11 [4+ ¢ pRas2x Lipfees (B |2 % =
182| ik 2 500 [109/03/11 [4+ ¢ pRas 2 Lipfees (B |2 % =
183[+ 3 500 [109/03/11 [4+ ¢ pRas2 Lipfees (B |2 % =
184 % 100,000 [109/03/11 [+ € prix 2 Lipfers |8 |2 %d =
185]#n 41 ~ 5,000 |109/03/12 |4 & PRA% % Lpseres |H |- 4nd 2
186| %= 1 & 20,000 [109/03/12 |4+ ¢ prasz Lipfers (£ |- 4 =
187 % 3% 14 Je » 2,088 [109/03/12 [ ¢ rrax % Lipsces | & |[HEMirEH L =
188[% # 1,000 [109/03/13 [+ ¢ prasz Lipfees [B |- 4 =
189[+k F 2 2,000 |109/03/13 |4 ¢ PRA% 2 Lpsers |H |- i 2
190k z ¢ 500 [109/03/13 [+ ¢ prasz Lgpfees (B |- 4 =
191 [+ % # 500 [109/03/13 [+ ¢ pRasz Lgpfees (£ |- 4 =
192[%12 F 500 [109/03/13 [+ ¢ pRas 2 Lipfees (£ |- 4 =
193[ 51« i= 500 [109/03/13 [+ ¢ prasz Lipfees (£ |- 4 =
194[+ % & 500 [109/03/13 [+ ¢ pRasz Lgpfees (£ |- 42 =
195+ 2 4 500 [109/03/13 [+ ¢ pRasz Lipfees (R |- 4 =
1964+ +k 2 i 500 [109/03/13 [+ ¢ pRisz Lipfers (R |- 4 =
197[r & 500 [109/03/13 [+ ¢ prisz Lipfers (£ |- 4 =
198+ % % 500 [109/03/13 [+ ¢ pRisz Lipfers (R |- 4 =
199[ 514 2 500 [109/03/13 [+ ¢ prisz Lipfers (£ |- 4 =
|| ERE= 500 |109/03/13 |4+ & PRA% % L Epfers £ |- &2 2
2013 % % 500 [109/03/13 [+ ¢ pRisz Lipfers (R |- 4 =
2024k & % 500 1109/03/13 [4+ ¢ PRAx % At |H |- 42 2
203| k4 500 [109/03/13 [+ ¢ prisz Lipfers (£ |- 4 =
204]4 =+ 500 [109/03/13 [+ ¢ prisz Lipfers (£ |- 4 =
205| % 500 [109/03/13 [+ ¢ prisz Lipfers (2 |- 4 =
206|2 & =& 400 [109/03/13 [+ ¢ praez Lipfers (£ |- 4 =
207 £ P #% 100, 000 |109/03/13 |4+ ¢ PR3% 2 Lapderes |H |- & 2
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20881 8 1,000 [109/03/13 i & riis® & apgert |4 |- ik =
209] a3 - 1,000 [109/03/13 i & riir = & apger |0 |- % =
210[% 2 = 1,000 [109/03/13 i & piir = & apger |0 |- % =

=
m1§;”'wﬂhﬂﬁ 1,000 [109/03/13is & pds = & spfees |£ |-z =
g

2127 7. 3 100 [109/03/13 i § rian 2 & opgee |4 |- ok~
213 % it 1,000 [109/03/13 [ & riis = & spger |0 |- % =
Q14| % s 5,000 |109/03/13 [k ¢ Fis * & spfers |4 |- b -
21557 % 2,000 |109/03/13 [k ¢ Fis* & ipferr |4 |2 %8 -
216 % % 1,000 [109/03/16 [ & riir = & spger |0 |- ik =
217k 7 1,000 [109/03/16 [ & riis = & apger |0 |- % =
R 200 [100/03/16 i ¢ Prir* & spgee |L |- ab -
NEET] 200 [100/03/16 i ¢ Pris* & spgee |L |- ad -
2203 7 % 500 |109/03/16 [ ¢ fis * & apfers [ |- b -
221 %% 11 4 fe ~ 6,612 [109/03/16 i ¢ FRis 2 & iifce’ |5 |id g JRibied b ~
292[% ¥ % 500 [109/03/17 [k ¢ fiis * & apfers |8 |- b =
293[% 1 1= 500 [109/03/17 [k ¢ fis * & dpfers |4 |- b -
204 % 7 4o 500 [109/03/17 [k ¢ fiis * & dpfers |8 |- b -
295| & ¢ 500 |109/03/17 [k ¢ fis * & dpfers [ |- b -
22637 1 5 2,000 |109/03/17 i ¢ Pt s & difees | |- st =
2972 #osc 375 [109/03/17 [ ¢ fiis * & dpfers [ |- b -
2083 # & 375 [109/03/17 [ ¢ Fiis * & dpfers [ |- b -
2293 4 375 [100/03/17 i ¢ Pris* & spger |L |- ad -
230[% 4 375 [100/03/17 i ¢ pris* & spger |1 |- ab -
231" ¢ = 500 [100/03/17 i ¢ pris* & spger | |- b -
23281 ~ 4 1,000 [109/03/17 i & piis = & spger |4 |- % =
233 % 2 500 [100/03/17 i ¢ pris* & spger | |- b -
234] % % 7 500 [100/03/17 i ¢ pris* & spger |L |- b -
235|% £ = 100 |109/03/17 |4+ & PRAx 2 L ¥pdees |H |- % 2
236 # % 100 [109/03/17 |4 ¢ PRAx% A¥pgers | £ |- &8 =
2373 s 100 [109/03/17 [ § riar 2 &opgee |1 |- ik~
238]57 2. 3 100 [109/03/17 [ § riar 2 &opgee |1 |- ik~
2397 7. 3 100 [109/03/17 [ § rian 2 &opgee |1 |- ik~
240[i2 1 500 |109/03/17 [ ¢ JRis 2 & 3ifcr> |4 |24 i ® -

241 7 = 450 [109/03/17 i ¢ FRis 2 & gagees |4 374 o -
242 £ pt 500 [109/03/17 i ¢ Fiis® & spferr |4 |2 %8 -
243(1g s v 500 [109/03/17 i ¢ Fiis 2 & spfeer | [hmd -
244] % % 11 4 e ~ 8,349 [109/03/18 i ¢ JRis 2 & ditces |4 ik g Iibied b -
245t 1 500 [109/03/19 [ ¢ Fiis 2 & spferr |4 |- ind =
246|474 500 [109/03/19 [ ¢ Fiis % & spferr |4 |- ind -
24755 2. 4 100 [109/03/10 [ § riar 2 &opgee |1 |- ik~
2481 it & 10,000 [109/03/10 [t ¢ pris = & apfees [ |- b =
a9 5 2,000 [109/03/19 [k ¢ pis * & ipfees [ |- b -
250[m # 500 [109/03/19 [ ¢ Fis® & spferr |4 |- ind -
2517 % 500 [109/03/19 i ¢ Fiis % & spferr |4 |- and -
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252|F Feap 300 |109/03/19 [A+ & rRir % LEpfers [H |- 4 & =
253[:% 1 5% 300 1109/03/19 [A+ & rRir % LEpfers [H - 4 & =
254|388 % 100 [109/03/19 |4 ¢ PRix % &gt | £ |- 4 d =
255|#% 2. 100 [109/03/19 |4 PRix % &gt | £ |- 4 d =
256 ¥ 75 & 200 1109/03/19 [A- & PRir 2 Liders [ [MERE 2
257 % 4 22 1,000 [109/03/19 |4 ¢ pRax % Lfers [ [fEk e 2
258|m ¥ H 100,000 |109/03/20 |4+ € PRAx % Lspscrs |2 (2% d 2
259 3% 3% 3,000 1109/03/23 [+ € PRAx2 Lifpders |£ |- 4 d 2
26045 £ % 500 |109/03/23 |4+ & rRir % Lifpders [H [ &&=
261 [:% 4¢, % 3,000 1109/03/23 [+ € PRAx 2 Lifpders |£ |- 4 d 2
2625 iR 2E 1,000 [109/03/23 |4 ¢ pRix % Lgfers [H |- 4 & =
263[77 5. 4 100 [109/03/23 |4 ¢ rRix % &gt | £ |- 4 d =
26477 7. 4 100 [109/03/23 |4 ¢ rRix % &gt | £ |- 4 d =
265| % 3% 1.4 Je » 2,088 1109/03/23 |4+ € PRix2 Litgres | | EMRrEH L =
266 i 1.4 Jx » 2,435 1109/03/23 |4+ € PRix2 Lipgres |£ | EMEH L =
267|% &% 1,000 [109/03/24 |A: ¢ pRAx % Lpfers [ [- &2 =
268|538 F 7k 2,500 |109/03/25 |4t & PRA% % Lpseres |H |- i 2
269[F 7 8 % 60,000 [109/03/25 |4 ¢ rRix 2 &gt | £ |- 4pd =
270138 = {v 2,500 [109/03/25 |4+ ¢ PRFx% Ldpders (£ |- &% =
271(2 4 & 1,000 [109/03/25 |4 ¢ pRix % Lpfers [H |- 42 =
272[38 L % 1,000 [109/03/25 |4 ¢ pRAx % Lpfers [ [- 42 =
273w b & 1,000 [109/03/25 |4 ¢ pRAx % Lgpfers [ [- 42 =
274| i 1o 5% 1,000 [109/03/25 |4 ¢ pRAx % Lpfers [E |- 42 =
275| % ik £ 1,000 [109/03/25 |4 ¢ pRax % Lpgers [ [- 42 =
276| % fo v 1,000 [109/03/25 |4 ¢ pRax % Lfers [ [- 42 =
2175 1o # 200 |109/03/25 |4+ ¢ pRir 2 Lipders [ |- 42 2
278|F 1o F 200 |109/03/25 |4+ ¢ pRir 2 Lipders [ |- 2 =
279|% P 47 200 |109/03/25 |4+ ¢ pRir 2 Lipders [ |- 42 2
280[2 ¥ 200 |109/03/25 |4+ & pRir 2 Lipders [ |- 42 =
281 | % & 2 5,000 1109/03/25 [+ € PRAx2 Lipders £ |2 %% 2
282| M ok 12 500 |109/03/26 |4+ ¢ prir 2 Lipders [ |- 2 =
283| Mt i rc 500 |109/03/26 |4+ & prir 2 Lipders [ |- 42 =
284 | M &4 500 |109/03/26 |4+ ¢ prir 2 LEpders [ [- 42 =
285|% % & 500 |109/03/26 |4+ ¢ prisr 2 Lipders [ |- 42 =
28613 2% 500 |109/03/26 |4+ ¢ prixr 2 Lipders [ [- 42 2
287|2 % i& 500 |109/03/26 |4+ ¢ prisr 2 Lipders [ |- 42 =
288|2 ¥4 500 |109/03/26 |4+ ¢ prisr 2 Lipders [ |- 42 =
289|5& 7.k 300 |109/03/26 |4+ ¢ prir 2 Lipders [ |- 42 2
200[#a % 2 1,000 [109/03/26 |4 ¢ pRix 2 Laferes [£ |2 d >
291 | %35 U4 Je » 6,543 |109/03/26 [+ & PRI+ 2 Lipdres |£ | EIRIBEH L
202(4 % & 200 1109/03/27 |4+ ¢ prir 2 Lipders [ |- 42 »
293 |t 48 100 [109/03/30 |Ax ¢ rrix 2 &gt | £ |- 4 d =
294[:% & 100 [109/03/30 |4 ¢ rrix 2 Lgpscrt |E |- 4 d =
295[:% ¥ & 100 [109/03/30 |4 ¢ rrix 2 Lgpscrt |E |- 4 d =
296 47 100 [109/03/30 |4 ¢ rrix 2 &gt |E |- 43 =




B R LR (AT (e iﬂz o
297] 128 100 [109/03/30 |4+ & prir T
298| i i it 100 [109/03/30 [4+ & prir 2 |-ad =
299[przr 2 £ 100 [109/03/30 [4+ & prir 2 |-ad =
300[ = e = 100 [109/03/30 [4+ & priz 2 |-ad =
301 %%y 100 [109/03/30 [4+ & prir 2 |-
302] % 75 114 fc » 1,704 [109/03/30]4+ & pris = 2 [ gmpant -
303] &% 1.4 4 » 14, 834 [109/03/304 & peir = 2 [ gmpant -
304] %% 1.4 4 » 5,940 [109/03/30 [i ¢ pris = 2 [ gmpant -
305] #x ¢ & 2,000 [109/03/31 [ ¢ priz = 2 |-
A e 300 [109/03/31 it ¢ prizz 2 |- we
307| Bt 7% 18,000 [109/03/31 4 & pris = 2 |- s
308] 2 e 3e 2,000 [109/03/31 [ ¢ praxz 2 |- ws
309[# £ & 1,000 [109/03/31 4+ & pris = T
310( 5438 200 {109/03/31 [ ¢ priz = 2 |- s
311 |t 200 {109/03/31 [+ ¢ priz = 2 |- i
312| %) e 200 [109/03/31 |3+ ¢ prinz 2 |- s
313|514 e 200 {109/03/31 [+ ¢ pris = 2 |- s
s14] gt it 200 {109/03/31 [+ ¢ priz = 2 |- s
315[2 £ & 400 [109/03/31 [ ¢ priz = 2 |- s
316]77 7 4 300 {109/03/31 [ ¢ priz = 2 |- s
317+ 24 5,000 [109/03/31 4 ¢ prisz 2 |-z




